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37°C (W) B 25°C (HrEdM) #eRfi M 30min J5, 95°C/KIE 5min (5%, ARG IE/KEE), ¥
#J, 10000g 25°C B> Smin, W -7
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NADPase BEiEM4HHE
- AR AIRE
FESL: RN T 40 218 1 NADPase 43 NADP 7=4: 1umol JTEHL &N — NADPase i& JJH.A07.
NADPase (umol/h/mg prot)=(C FR7EE xV E)x(A Ml & & -A ST IED (A InEE-A THE)~
(V FEXCpr)=T=5x(A M5E B -A X HE ) +(A briEE-A 75 3 E)+Cpr
2. FREAREE E T
SE e /N g 214 NADPase 4/ NADP 774 lpmol TN —A NADPase 35 /1 847
NADPase (umol/h /g B )=(C AR E <V E)x(A WEE-A X HE) A FREE-A TEE DOV B+(Wx V =V
FER)+T=5%(A M5 E-A X FE)+(A ﬁ/@% A THE)W
CHRlERE: ARHEEIRIE, 0.5pmol/mL; V & : BRRMEMAR, 02mL; VFE: MMAFEAME, 0.04mL ; V
FEE: IINTEEGRAARY, 1mL; T: KRMHESE, 0.5 /8 Cpr: BEARB AR, mg/mL; W: FEARMEE,
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